Cover any

E answer.

15+3 =18

17 + 3 = 20
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How to Play

1. You will need dice, counters or whiteboard markers.

. Roll the dice and move the correct number of spaces.

. Read the calculation on the square you land on or follow the
instructions. Find the matching fact family on one of the fish.

. Cover the matching fact family with one of your counters
or cross it out with your whiteboard marker.

. If the answer has already been covered, miss a turn.

. The winner is the player who covers the most answers.
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Move forward

2 spaces.

Move back
3 spaces.

d - —
w
1
w
]
- _BSY Y
o
e s



